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	QUESTION
	SC

	Determine the order of magnitude O() of the following algorithm:

int n = somePositiveIntegerValue

while (n>0){

   do something

   n = n / 2

}                                                       Answer: The order is O ( log n )
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	Downcasting means to cast an object to a class down in the hierarchy, i.e. to a class having more methods or fields. Upcasting is the opposite. Which of the following is true ?

· Upcasting is always possible

· Downcasting is always possible

· Upcasting is possible but never makes sense, because you lose information

· Downcasting is possible but never makes sense, because you lose information
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	If you look at JAVA’s class-structure, you will see that the class ArithmeticException has only two constructors, no methods. But it’s possible to use the method ArithmeticException.getMessage() . Why ?

· Exceptions are objects, derived from class Throwable, having the method getMessage()

· This is a lie ! There’s no method getMessage() !

· Exceptions are primitive data-types. Java provides built in methods, among them getMessage()

· I don’t have a single idea, but sometimes in Java methods simply are there although nowhere defined
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	Assume the object myObject has the method int getValue(), a[] is an integer-array, i an integer variable. which runtime-errors could occur in the following line of code:

a[i] = 1/myObject.getValue();

1. IndexOutOfBoundsException (i out of bounds)

2. NullPointerException (myObject == null)

3. ArithmeticException (div. By zero)
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